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{15 %) Describe the nllowing terininoleries:

(i) progranamdlde ingio secwyes (PLAY (B Go-ing T
o) Schoctky TULy (dbewitter-congpled logie (ECL);
() Aellapreoprasiniable gabe armays (G Ay,

. £18 %) Tig. | depictz the dircuit of 4 Scunitt trigger, Let the output

levcls e £ 5V, i V. =+ 5 Vor -5 Y, fsume that the loeteresiz
voltage {by, the diference botween bigh level theeshold (13 ansd low
bevel dlacusshole] (Vo)) 35 0.0 Y.

fu) By giving Vy = 1V, please deehae fyf (R, o Ry} 82 well 82 ¥ and
L8

fte) Plense give oo arbitrany wavelevnr ingut Ko wied plo the resalting
responme of the imwacting Sclnnitt trigeer, W Labe] appropristely the
thuoeslenle) woltages, Vol 15,

20 9] I Wlen lrkclia cecillabor of Fig. 2, B = 2 KL, G= 500 pF, amdl
g = 2 01

(2] Datorimime: GEies Tongs wadi,

(L) Fienl the resoqeab regusny,

led Diesipm w IO pbuges ATt ascilianar at che suee earguency of tha Wien
Lriclme wscalintor,

_ {L5%) For the viteuit in Fig, 5, Mo =1 K0, @ = 2 K0, Ra=d4.5 K17,

and O= 10 pF,

{) Determine Glie) = [Volje /i jul "
(bl Plot €FT 7 versus Freouency asing kade appaosimations. .
() Draow tlos esopivalen boGreait o Glfe) &t very Lo sond ab veey Bilgh
Fraspamneye

{19 Ha) Assumibng Ehat the epepnps i Fig. 4 are idead, Foed the V014

ane] frequenay vespoass of pu b imgeesduee, 5 0w ). {Lee /) = § K11,
Hz = 15 00, and O= 100 pT",)

[

Fril W1

- U20%) Fig 5 evimpde SR Aip-llop sereed oy -bit ceod fotite mamoty.

Flepze desorilin hoaw o poanel it onet orr 8o owrike Qats, intn b the cebl,
{ELint: plowse give thes Popie stubes for X ddoess, woite meble, 5, 13 G,
rewgl eltu reoel out. )
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